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Ph.D. (Law)

PART -1
RESEARCH METHODOLOGY

Which method can be applicable for collecting qualitative data?
a) Artefacts b) People
c) Media products d) All of the above

The most persuasive secondary sources that are almost always acceptable to cite
include:

a) Treatises, Nutshells, and Restatements

b) Treatises, Restatements, and Law Review Atrticles

c) Treatises, American Law Reports, and Encyclopaedias

d) Hornbooks, Nutshells, and Restatements

What are the conditions in which Type-| error occurs?

a) The null hypotheses get accepted even if it is false

b) The null hypotheses get rejected even if it is true

c) Both the null hypotheses as well as alternative hypotheses are rejected
d) None of the above

Which of the following legal sources includes short case descriptions arranged
topically?

a) Reporters b) Digests

c) Annotated Codes d) Both Digests and Annotated Codes

The ultimate goal of legal research is to find:
a) persuasive primary authority b) secondary authority
C) persuasive secondary authority d) binding primary authority

You are researching a family law matter for a senior partner at your law firm. In your
research, you have learned that the legal issue has not been addressed by a court
of law in your State. Which kind of secondary source would be best to rely upon to
determine how a court of law in your State might address this legal issue?

a) Federal environmental administrative regulations
b) A law review article that examines the legal issue you are researching

c) A non-legal website that addresses only the social issues and policies
involved

d) A case or statute from another jurisdiction
-3-



10.

11.

12.

13.

Ph.D. (Law)

What is the primary method of case law analysis?
a) Ambiguity clarification b) Plain meaning rule
c) Both a) and b) d) Analogical reasoning

What is the goal of objective legal writing?
a) To predict and argue

b) To educate and persuade

c) To argue and persuade

d) To educate and predict

What are the best practical tips to avoid plagiarism for legal writing?
a) Cite apart from the drafting process
b)
c) Insert long form cites while drafting
d) All of the above

Substitute short form cites as needed in final revisions

In qualitative research, which of the following criteria is concerned with the question
of whether the findings apply to other contexts?

a) Transferability b) Credibility
c) Internal validity d) Confirmability

Hypothesis is

a) Conclusion drawn from existing literature
b) Interpretation of data

c) Relation between variables

d) Comparison of assumptions

Quantitative research is otherwise known as .
a) Ethnographic approach b) Unstructured approach
c) Descriptive approach d) Structured approach

On what basis did Jean Piaget give his theory of cognitive development of humans?
a) Evaluation Research b) Fundamental Research
c) Applied Research d) Action Research
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15.

16.

17.

18.

19.

Random sampling is helpful as it is
a) Reasonably accurate

b) Free from personal biases

c) An economical method of data collection
)

d) All of the above

Sampling is advantageous as it .
a) Saves time b) Helps in capital-saving
c) Increases accuracy d) All of the above

Which tool is commonly used for quantitative data analysis?
a) Microsoft Word

b) Statistical Package for Social Sciences (SPSS)

c) Adobe Photoshop

d) PowerPoint

Ph.D. (Law)

In which of the following research methods, process of hypothesis testing optimally

safeguards the role of extraneous variables?
a) Ex-post Facto method b) Experimental method

c) Historical method d) Descriptive Survey method

What is the significance of research ethics?
a) To show gratitude towards the researcher
b) To ensure the integrity of research
c) To reduce plagiarism
d) To increase research findings

What is the difference between reliability and validity in research?

a) Reliability refers to the consistency of findings, while validity refers to the accuracy

of findings

b) Reliability refers to the generalizability of findings, while validity refers to the

relevance of findings

c) Reliability refers to the ease of using a research method, while validity refers to

the difficulty of using a research method

d) Reliability refers to the cost of research, while validity refers to the benefits of

research
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Consider the following Assertion and Reasons :

Assertion: Data processing plays a vital role in converting raw data into meaningful
information for analysis and interpretation.

Reason 1: Data processing involves organizing, cleaning, and transforming raw
data into a format suitable for statistical analysis.

Reason 2: Effective data processing ensures that the research findings are valid
and reliable.

Select the correct option:

a) Both Reason 1 and Reason 2 are correct
b) Both Reason 1 and Reason 2 are incorrect
c) Only Reason 1 is correct

d) Only Reason 2 is correct

In legal research, what is the primary purpose of utilizing specialized law libraries?
a) To access general information and literature on legal topics

To locate specific legal statutes, case law, and legal commentary

To conduct qualitative analysis of legal texts

To network with legal professionals for research collaboration

~— N S S

b
c
d

Your law firm is representing a client in a complex international business transaction.
You need to research the laws of a foreign jurisdiction that are not readily available
in English. Which of the following resources available in the law library would be
the MOST effective starting point for your research?
a) International legal treatises and journals
b) Online legal translation tools
c) Foreign language legal dictionaries and encyclopaedias
d) Consulting with an attorney specializing in international law

You are conducting a survey research study on the relationship between student
study habits and academic performance. You collect data on the number of hours
each student studies per week and their final exam grades. Which of the following
is the MOST appropriate statistical test to analyze this relationship?

a) Chi-square test b) Correlation analysis

c) T-test d) One-way ANOVA

What is the difference between primary and secondary data?

a) Primary data is collected first-hand, while secondary data is collected from
existing sources

b) Primary data is qualitative, while secondary data is quantitative

c) Primary data is collected from government reports, while secondary data is
collected from interviews

d) Primary data is more economical than secondary data

-6-
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25. When considering the internal validity of a research design, what does the term

26.

27.

28.

29.

“threats to internal validity” refer to?
a) Factors that limit the generalizability of research findings to broader populations

b) Biases or confounding variables that may affect the interpretation of study
results

c) Issues related to the reliability and consistency of measurement instruments
d) Ethical considerations and guidelines governing research conduct

In the context of report writing in legal research, what is the primary purpose of
incorporating jurimetrics?

a) To enhance the readability and accessibility of the report for a non-legal audience
b) To provide a comprehensive analysis of legal doctrines and precedents

c) To utilize quantitative methods for predicting legal outcomes and trends

d) To incorporate ethical considerations and guidelines into the research findings

Your research report analyzes the impact of a recent Supreme Court decision
on lower court rulings using a qualitative approach. You want to strengthen your
arguments by incorporating relevant quantitative data. Which of the following sources
is the MOST appropriate and reliable for obtaining this data?

a) Government websites with legal statistics reports

b) Legal blogs and online commentary pieces

c) Scholarly articles published in peer-reviewed legal journals

d) Social media posts and online discussions about the court decision

What are the two main types of qualitative research methods?
a) Interviews and Surveys

b) Experiments and Case Studies

c) Case Studies and Content Analysis

d) Observations and Surveys

When researchers use designs that call for multiple groups, the most commonly
employed test is:

a) Z-test b) t-test for difference of means
c) Paired t-test d) F-test
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What is the expanded form of OSCOLA citation?

a) Oxford University Standard for the Citation of Legal Authorities
b) Oxford University System for the Citation of Legal Acts

c) Oxford Universal System for the Citation of Legal Authorities
d) Oxford University Standard for the Citation of Legal Authority

In the context of a literature review, what does the term “conceptual framework”
refer to?

a) A theoretical model that guides the organization and interpretation of literature
b) A summary of research findings from previous studies

c) A database containing relevant research articles and publications

d) A statistical technique used to analyze data from multiple studies

Which of the following resources is LEAST likely to be a valuable source for a
thorough review of literature in your research?

a) Peer-reviewed academic journals relevant to your topic

b) Government reports and data on relevant issues

c) Books and edited volumes written by established scholars in the field
d) Popular media articles and blog posts on the research topic

What is the primary responsibility of researchers regarding informed consent in
research studies?

a) To obtain consent from all participants regardless of the nature of the study

b) To ensure that participants are fully informed about the risks and benefits of
participation

c) To guarantee that participants remain anonymous throughout the study

d) To obtain consent only from vulnerable populations

A researcher is conducting a study on the psychological effects of social media

use among teenagers. They plan to recruit participants from a popular social media

platform without informing their parents or guardians. Which ethical principle is being

violated in this scenario?

a) Informed consent: Participants have the right to know about the research and
choose to participate freely

b) Data privacy: Researchers must ensure the confidentiality and security of
participant data

c) Justice: Research benefits and burdens should be distributed fairly

d) Scientific integrity: Researchers must be honest and transparent in their research
practices
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35. Which research method is commonly used in socio-legal research to explore the
experiences and perspectives of individuals affected by legal issues?
a) Experimental design b) Survey research
c) Ethnographic research d) Content analysis

36. Which of the following statements is NOT correct about a questionnaire?
a) Large amounts of information can be collected
b) It is quick and easy to collect results
c) An expensive method to collecting data
d) Set of questions for the purposes of a survey or statistical study

37. What distinguishes a well-formulated research problem from a poorly formulated
one?

a) A well-formulated research problem is broad and general, while a poorly
formulated one is specific

b) A well-formulated research problem is feasible and manageable, while a poorly
formulated one is too complex or abstract

c) A well-formulated research problem has a clear and predetermined solution,
while a poorly formulated one lacks direction

d) Awell-formulated research problem is subjective and open-ended, while a poorly
formulated one is objective and precise

38. What is the primary challenge in defining a research problem that is both relevant
and significant?

a) ldentifying a topic that has not been previously studied

b) Ensuring that the research problem aligns with the researcher’s personal
interests

c) Balancing the scope of the research problem to address practical concerns
without being too narrow or too broad

d) Selecting a research problem that has a predetermined solution

39. A researcher conducting participant observation in an online community forum
encounters a heated discussion involving offensive language and discriminatory
remarks. How should the researcher ethically respond to this situation while
maintaining the integrity of the research?

a) Ignore the incident and continue collecting data as planned

b) Report the offensive comments to the forum moderators and potentially
compromise the anonymity of participants

c) Discuss the situation with a research ethics committee and consider alternative
data collection methods that do not expose participants to harmful content

d) Engage in direct confrontation with the participants using offensive language,
reflecting the researcher’s personal values

-9-
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40. Which of the following is a common challenge in qualitative research?
a) Ensuring replicability and generalizability of findings
b) Maintaining objectivity and minimizing researcher bias
c) Collecting large amounts of standardized data
d) Achieving consensus among researchers on data interpretation

41. Aresearcher is investigating the relationship between the length of criminal trials and
the likelihood of conviction. They want to use jurimetrics to analyze this relationship.
However, they encounter a dataset with missing information regarding the length
of some trials. Which of the following approaches is the MOST appropriate and
statistically sound method to address this missing data in the context of jurimetrics
research?

a) Imputing missing values using the mean duration of all trials

b) Excluding cases with missing data from the analysis, potentially leading to biased
results

c) Using a statistical technique like multiple imputation to estimate missing values
based on available data

d) Ignoring the missing data altogether and focusing on cases with complete
information, reducing the sample size and potentially affecting generalizability

42. Which of the following methods is used in empirical researches?
a) Inductive method
b) Deductive method
c) Initiative method
d) Scientific method

43. Aresearcher is writing the abstract for their research report. Which of the following
statements, accurately reflects the MOST important characteristic of an effective
abstract?

a) The abstract should be as detailed and lengthy as possible, providing a
comprehensive overview of the entire research report

b) The abstract should primarily focus on the literature review and previous research
on the topic

c) The abstract should be concise and informative, providing a clear summary of
the research question, methodology, key findings, and conclusions

d) The abstract should prioritize technical jargon and complex terminology specific
to the researcher’s field

-10-
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Which of the following is an example of a null hypothesis?

a) There is a significant difference between Group A and Group B

b) There is no relationship between variables X and Y

c) The mean score of Sample A is higher than the mean score of Sample B
d) The experimental treatment has a positive effect

Which of the following is NOT a common citation style used in academic research?
a) APA (American Psychological Association)

b) MLA (Modern Language Association)

c) AP (Associated Press)

d) Chicago Manual of Style

What information is typically included in a citation for a journal article in Bluebook
style?

a) Author’'s name, publication year, journal title and date

b) Author’'s name, book title, and page number

c) Author’'s name, publication date, and website URL

d) Author’s name, title, volume number, journal, page and date

Which of the following is non-probability sampling technique?
a) Cluster sampling b) Snowball sampling
c) Systematic Random sampling d) Simple Random sampling

In which of the following research methods, manipulation of variables and
randomization of samples are two of the basic requirements?

a) Ex-post facto research b) Descriptive research
c) Case study research d) Experimental research

Tippit table refers to as

a) Table of random digits

b) The table used in sampling methods

c) The table used in statistical investigations
d) All of the above

What is the primary purpose of Institutional Review Boards (IRBs) in research
institutions?

a) To evaluate the statistical validity of research studies

b) To ensure that research studies comply with ethical standards and regulations
c) To provide funding for research projects

d) To recruit participants for research studies

11-
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PART -1l
LAW

“Delegated legislation is a growing child called upon to relieve the parent of the strain
of overwork and capable of attending to minor matters, while the parent manages
the main business.” Who made the above statement?

a) Sir Carleton Kemp Allen b) Sir John William Salmond
c) James Finn Garner d) Sir Cecil Carr

The expression ‘federative power’ used by John Locke is related to:
a) General rule making power

b) Power of conducting foreign affairs

c) Legislative power

d) Judicial power

In which of the following decisions, the Supreme Court of India held that the Speaker
of the Legislative Assembly of the State is a quasi-judicial authority while adjudicating
the disqualification petition of any member of the Assembly?

a) Shrimanth Balasaheb Patil v. Hon’ble Speaker, Karnataka Legislative
Assembly

b) Raja Ram Pal v. Hon’ble Speaker, Lok Sabha and Ors.
c) Dr. Kashinath G. Jalmi and Anr. v. Speaker and Ors.
d) G. Viswanathan v. Hon’ble Speaker, Tamil Nadu Legislative Assembly

Which provision of the Constitution of India provides definition of ‘Goods and Services
Tax’?

a) Article 246(A) b) Article 269(A)

c) Article 366(12A) d) Article 279(A)

If a person is elected as the President of India and exercises powers and duties
of the office of President, and subsequently such election is declared void by the
Supreme Court of India, then by reason of that declaration all acts done in the
exercise of the powers and duties of the office of President before the date of such
decision of the Supreme Court shall be:

a) Void b) Irregular

c) Invalid d) Not invalid

-12-
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56. Which of the following is NOT expressly given as a factor to be considered by the
Governor for the purpose of the constitution of Municipalities under Article 243Q of
the Constitution of India, for the purpose of notification of any area as a ‘transitional
area’?

a) Density of the population

b) Percentage of schools, colleges and hospitals in proportion of the population
c) Percentage of employment in non-agricultural activities

d) Revenue generated for local administration

57. All minerals and other things of value underlying the ocean within the limits of the

territorial waters or continental shelf of India shall vest in the
a) President of India
b) Union of India
c) State(s) having territory adjacent to the ocean
)

d) Authority in accordance with the international convention

58. Which of the following statements regarding the test of intention to create legal
relationship is untrue?

a) Intention is inferred when the parties to an agreement conform to the rules of
law for formation of contracts

b) Intention to create legal relationship can be expressly negated by construction
of the document from which that intention is to be inferred

c) A promisor who never intended to create legal relationship shall not be bound
even if a reasonable person would consider that there was an intention to
contract

d) Even the promisor who never intended to create legal relationship shall be bound
if a reasonable person would consider that there was an intention to contract

59. Choose the correct answer regarding the ‘Contra Proferentem’ rule.
a) Itis a rule of interpretation of words in favour of the drafter of the contract
b) It is a rule of interpretation of words against the drafter of the contract

c) It is a rule of interpretation of words to infer the real intention of the drafter of
the contract

d) It is a rule of construction of words used in the contract to infer the prevailing
customary effects

-13-
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60. Where a wife borrows money to manage necessary family expenses in a reasonable
manner, the husband shall be liable to repay the debt to its creditor under implied
authority of borrowing.

Consider the above statement and choose correct answer.
a) Husband is liable as principal for the act of wife as agent under the principle of
agency
b) Husband is liable as surety for the act of wife as debtor under the contract of
guarantee
c) Husband is liable as master for the act of wife as servant under the principle of
vicarious liability
d) Husband is not liable to repay debt

61. The expression ‘Mercantile Agent’ given under Section 178 of the Indian Contract
Act 1872 has the same meaning as assigned under:

a) The General Clauses Act 1897

b) The Transfer of Property Act 1882
c) The Sale of Goods Act 1930

d) The Indian Partnership Act 1932

62. A bailor of goods lends it gratuitously for a specified time and purpose. On the faith
of such bailment made for a specified time and purpose, the bailee has acted in
such a manner that the return of the goods lent before the agreed time would cause
him loss exceeding the benefit actually derived by him from the use of goods. The
bailor compels to return of goods before the specified time and accomplishment of
purpose.

Consider the above statement and suggest the correct answer.

a) Bailor may not compel to return of goods before the specified time and
accomplishment of purpose in any condition

b) Bailor must indemnify for the amount in which the loss so occasioned exceeds
the benefit so derived

c) Bailormay compel to return of goods before the specified time and accomplishment
of purpose without indemnifying bailee

d) Bailee is entitled to claim damages and compensation for the breach of
promise

63. Section 25 of the Indian Contract Act 1872 provides the general rule that the
agreement without consideration is void. However, the section contains
exceptions.

a) Two b) Three c) Four d) Five

-14-



ﬁ Ph.D. (Law)

64. What is the consideration to enforce a contract of guarantee against the surety?
a) Consideration is not necessary in contract of guarantee

b) All existing and collateral securities in hands of the creditor against the principal
debtor are sufficient consideration to the surety for giving the guarantee

c) All collateral securities are sufficient consideration to the surety for giving the
guarantee

d) Anything done, or any promise made, for the benefit of the principal debtor, may
be a sufficient consideration to the surety for giving the guarantee

65. A professional association of Medical Practitioners have developed bylaws for
determining the entitlements, ethics and discipline of members of such association.
Such bylaws may be considered as:

a) Consensual Agreement
b) Legislation

c) Autonomic Legislation
d) Customary Law

66. Lon Luvois Fuller propounded the term ‘Eunomics’ and defines it as:
a) Doctrine of binding ultimate ends
b) The theory or study of good order and workable arrangements
c) Rationality and morality are the essence of law
d) Distinctive coalescence of form, value, and fact

67. Who shall discharge the function of making over the case for inquiry or trial under
Section 212 of the Bharatiya Nagarik Suraksha Sanhita, 20237

a) Chief Judicial Magistrate
b) Court of Session

c) High Court

d) Executive Magistrate

68. ‘Petty offence’ means any offence punishable only with fine NOT exceeding:
a) Five Thousand Rupees
b) Three Thousand Rupees
c) Two Thousand Rupees
d) One Thousand Rupees

-15-
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Who is empowered to determine the language of courts under Section 307 of the
Bharatiya Nagarik Suraksha Sanhita, 20237

a) Ministry of Law and Justice, Government of India
b) Supreme Court of India

c) High Court

d) State Government

‘Generalia Specialibus Non Derogant’ means:

a) Special law will always prevail over general law

b) General law will always prevail over special law

c) General words are to be understood in a general way
d) Incorrect grammar does not vitiate a deed

Consider the following statements:
i. The identification of an accused by a witness in court is substantive evidence.

ii. The evidence of identification in test identification parade is primary evidence
but not substantive evidence.

iii. Test identification parade can be used only to corroborate identification of the
accused by a witness in the court.

Choose the correct answer.

a) (i) and (ii) are correct but (iii) incorrect
b) (i) and (ii) are incorrect but (iii) is correct
c) (i) and (iii) are correct but (ii) incorrect
d) (i), (ii) and (iii) are correct

Which of the following Latin maxims is related to relevancy of dying declaration?
a) Actus Curias Neminem Gravabit

b) Nemo Moriturus Praesumitur Mentire

¢) Nullum Tempus Aut Locus Occurrit Regi

d) Lex Non Cogit Ad Impossibilia

Choose the correct answer regarding the doctrine of restitution under Section 144
of the Code of Civil Procedure 1908.

a) The expression ‘restitution’ is clearly defined under Section 144 of the Code of
Civil Procedure 1908

b) Section 144 confers a new substantive right on the parties for the tortious act
caused due to erroneous decree or order passed by the court

c) Section 144 does not confer any new substantive right. It merely regulates the
power of the court to restore the parties so far as they can be restored

d) The courts do not have the inherent power to make restitution under Section 144
of the Code of Civil Procedure 1908

-16-
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Which of the following maxims is NOT related to doctrine of res judicata?
a) Nemo Debet Bis Vexari Pro Una Et Eadem Causa

b) Nemo Tenetur Se Ipsum Prodere

c) Interest Reipublicae Ut Sit Finis Litium

d) Res Judicata Pro Veritate Occipitur

Where the court has passed a decree for the payment of money and the decree is
silent with respect to the payment of interest during the period from the date of the
decree to the date of payment, it shall be deemed that:

a) Court has refused such interest and therefore no separate suit shall be instituted
for the payment of interest

b) Court has refused such interest; however, a separate suit may be instituted for
the payment of interest

c) Court has not refused such interest; however, a separate suit may be instituted
for the payment of interest

d) Court has not refused such interest but adjusted the payment of interest in the
cost of the suit

All questions relating to executability or non-executability of a decree have been
conferred within the exclusive jurisdiction of the court executing the decree by virtue

of the provision of the Code of Civil Procedure 1908.
a) Section 10 b) Section 11
c) Section 33 d) Section 47

‘A, the owner of ‘X', Y’ and ‘Z’ properties, mortgages them to ‘B’ and then sells ‘Z’
property to ‘C’. ‘A’ commits default in payment of mortgage amount then ‘B’ exercises
his remedy against the mortgaged properties. In the absence of a contract to the
contrary, ‘C’ may demand that the due mortgage amount be satisfied out of:

a) ‘X, ‘Y’ and ‘Z properties in equal proportion

b) ‘Z’ property only for half part of mortgage amount

c) X and ‘Y’ properties only

d) X’ and ‘Y’ properties so far as the same will extend to satisfy the due mortgage
amount

Section 135 of the Transfer of Property Act 1882 deals with the provision for the
assignment of rights under the policy of insurance.

a) Life b) Marine

c) Agriculture d) Fire
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‘X’ transfers his property in favor of an unborn person ‘Y’ in accordance with the
principle of Section 13 of the Transfer of Property Act 1882. ‘Y’ acquires interest
in the property upon his birth, although ‘Y’ is not entitled to enjoy the property
immediately on his birth. The interest of ‘Y’ in the property is:

a) Contingent interest b) Vested interest
c) Future interest d) Irregular interest

The general rule for the apportionment of income between the transferor and
transferee under Section 36 of the Transfer of Property Act 1882 is that such income
shall be deemed to accrue due from:

a) Day to day basis b) Every fortnight basis
¢) Monthly basis d) Yearly basis

A tortious act infringes:

a) Right in personam

b) Right in rem

c) Both Right in personam and Right in rem
d) Neither Right in personam nor Right in rem

‘Malice in fact’ means:

a) A wrongful act done intentionally without just cause
b) A wrongful act done intentionally with evil motive

c) A wrongful act done intentionally with just cause

d) A wrongful act done intentionally without evil

Consider the following statements:
i. Libel is addressed to the eye.
ii. Slander is addressed to the ear.
iii. Slander is a criminal wrong.
Choose the correct answer.
a) (i) is correct but (ii) and (iii) are incorrect
b) (i) and (ii) are correct but (iii) is incorrect
c) (ii) and (iii) are correct but (i) is incorrect
d) (i), (ii) and (iii) are correct
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Which of the following is NOT necessary to establish the liability for negligence
under law of torts?

a) Breach of duty b) Duty of care
c) Intentional act or omission d) Causing injury to another

What must be shown before the court to obtain an injunction to stop nuisance?
a) Convenience of the applicant
b) Guilt of the defendant

c) No alternative legal remedy exists

d) Gravity and permanent character of injury complained

Choose the correct answer regarding the purpose of the United Nations.
a) To establish trade harmony
b) To ensure internal peace and security of every State
c) Prevention and removal of threats to international peace
)

d) To achieve international cooperation in solving domestic humanitarian problems
of States

Which of the following is/are correct according to the ‘Constructive Theory of
Recognition’?

i. Recognition is a key to membership of the international community.

ii. It is constitutive of a new international legal personality.

iii. States are under a legal obligation to grant recognition to a newly emerging
State.

iv. Recognition clothes the government of the recognized State with authority and
opportunity to conduct international relations.
Choose the correct answer:
a) i, ii and iv are correct b) iand ii are correct
c) ii and iv are correct d) i, iii and iv are correct

Consider the following statements:
i. Citizenship is the concern of municipal law.
ii. Nationality is the concern of international law only.
iii. There is no provision for nationality in the Constitution of India.
Choose the correct answer:
a) i, ii and iii are correct b) iand ii are correct
c) ii and iii are correct d) i and iii are correct
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89. Which of the following marginal note to Section 4 of the Bhartiya Sakshya Adhiniyam
2023 deals with the same doctrine as was contained under section 6 of the Indian
Evidence Act 1872 ?

a) Relevancy of facts forming part of the same transaction
b) Closely connected facts

c) Facts under res gestae

d) Proximate facts

90. Under the recent criminal law the ‘community service’ is a
a) moral teaching not amounting to punishment
b) form of punishment
¢) non-significant term
d) form of rehabilitation of offender in the society

91. When the acceptor of a negotiable instrument is also a drawer, in that case a notice
of dishonor is:
a) Necessary
b) Not necessary
c) Not always necessary but under certain circumstances it is must
d) Depending on option of the parties

92. ‘Mesne profits’ of property does NOT include:

a) Profits which the person in wrongful possession of such property actually
received

b) Profits which the person in wrongful possession of such property might with
ordinary diligence have received

c) Profits due to improvements made by the person in wrongful possession of such
property

d) Interest on profits which the person in wrongful possession of such property
actually received

93. What is the basis for determining whether a person is partner in a firm?

a) The real relation between the parties, as shown by all relevant facts taken
together

b) The sharing of profits arising from the property by persons holding common
interest in such property

c) The sharing of profits arising from the property by persons holding joint interest
in such property

d) The receipt by a person of a share of the profits of a business
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Which of the following international conventions co-ordinates cybercrime investigations
among States parties?
a) United Nations Convention Against Transnational Organized Crime
b) Rome Statute of the International Criminal Court
c) Agreement on the Enforcement of Sentences with the International Criminal
Court
d) Budapest Convention on Cybercrime

In which of the following cases has the Supreme Court of India directed the Central
Government to constitute a National Tribunals Commission (NTC), an independent
body to supervise the functioning of Tribunals in India?
a) Union of India v. Debts Recovery Tribunal Bar Assn. (2013) 2 SCC 574
b) Madras Bar Association v. Union of India (2021) 7 SCC 369
c) National Company Law Tribunal Bar Association v. Union of India 2022 SCC
OnLine SC 985
d) Registrar General, High Court of Judicature at Madras v. Tamil Nadu Public
Service Commission 2017 SCC OnLine SC 514

In which of the following cases, the Supreme Court of India directed to install
CCTV Cameras and recording equipment in the office of agencies which carry out
interrogations and holding of accused takes place in the same manner as it would
in a police station ?

a) State of Maharashtra v. Keshao Vishwanath Sonone, 2020 SCC OnLine 1040
b) Paramvir Singh Saini v. Baljit Singh, AIR 2020 SC 64

c) Rohtas v. State of Haryana, [2019] 16 S.C.R. 861

d) Chaman Lal v. State of Himachal Pradesh, (2004) 7 SCC 525

Appointing a person as director against the director of a company during his absence
for a period of not less than three months from India is known as:

a) Alternate Director b) Additional Director

c) Resident Director d) Nominee Director

Consider the following Assertion [A] and Reasoning [R]:

[A] Socialism is implicitin the preamble and directive principles of state policy under
the Constitution of India.

[R] The term ‘economic justice’ denotes social and economic liberties of the

people.
Choose the most suitable answer.
a) Both [A] and [R] are true b) Both [A] and [R] are false
c) [A] is false, but [R] is true d) [A]is true, but [R] is false
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99. Consider the following Assertion [A] and Reasoning [R]:
[A] The Judge of a High Court is not a Government Servant.
[R] The relationship of Master and Servant between the Government and Judge
would defeat judicial independence.
Choose the most suitable answer.
a) Both [A] and [R] are true
b) Both [A] and [R] are false
c) [A] is false, but [R] is true
d) [A]is true, but [R] is false

100. Which of the following statements regarding the application of Bharatiya Nyaya
Sanhita, 2023 is NOT true?

a) Provision of the Sanhita shall apply to any offence committed by any person in
any place without and beyond India committing offence targeting a computer
resource located in India

b) Provision of the Sanhita shall not apply to any offence committed by any person
in any place without and beyond India committing offence targeting a computer
resource located in India

c) Provision of the Sanhita shall apply to any offence committed by any citizen of
India in any place without and beyond India

d) The word ‘Offence’ includes every act committed outside India which, if committed
in India, would be punishable under this Sanhita
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SECTION A- ENGLISH

1. Choose the best option in phrasal verbs to replace the underlined part of the sentence.

More than 90000 people packed out the stadium to witness the grand finale on the closing day
of the mega sports event.

a. Packedin
b. Packed into
c. Packed up
d. Packed off

2. Choose the best option in phrasal verbs to replace the underlined part of the sentence.

The law finally caught on with the dreaded criminal who managed to elude the police for a
long time.

Caught out
Caught over
Caught in
Caught up

oo o

3. Choose the best option in phrasal verbs to replace the underlined part of the sentence.

Acting in an anonymous tip-off, police raided the den and arrested several people who were
involved in the drug racket.

Acting for
Acting up
Acting on
d. Acting over

o T

4. Choose the best option in phrasal verbs to replace the underlined part of the sentence.

Being a gregarious person with an amiable temperament, John can strike out a friendship even
with complete strangers.

Strike up
Strike at
Strike on
d. Strike back

oo

5. Choose the best option in phrasal verbs to replace the underlined part of the sentence.

The storm blew up after two days, much to the relief of the people living along the coast.
3



a. Blew apart
b. Blewin
c. Blew out
d. Blew over

6. Out of the 4 given forms, identify the grammatically correct sentence.

There were lesser children in the class than expected.
There were fewer children in the class than expected.
There were a little children in the class than expected.
d. There were a small children in the class than expected.

oo

7. Out of the 4 given forms, identify the grammatically correct sentence.

These tomatoes does not taste very good.

These tomatoes do not taste very good.

These tomatoes are not tasting a very good.

These are tomatoes which are not tasting very good.

oo o

8. Out of the 4 given forms, identify the grammatically correct sentence.

| had wanted to repair the radio today but am having no time.
| want to repair the radio but had not time to do it today.

I want to repair the radio but haven’t no time to do it today.

| want to repair the radio today but I have no time to do it.

oo o

9. Out of the 4 given forms, identify the grammatically correct sentence.

a. The binoculars are handy during an eclipse.
b. The binoculars is handy during eclipse.
c. The binoculars was handy during eclipse.
d. The binoculars were handy during eclipse.
.0

10. Out of the 4 given forms, identify the grammatically correct sentence.

An argument developed among his sister and him.
An argument developed between his sister and he.
An argument developed between his sister and his.
An argument developed between his sister and him.

oo o

M.A.

11. Identify the best alternative for changing the given sentence from direct to reported speech.

The speaker said, “Be quiet and listen to my words.”

The speaker ordered us to be quiet and listen to my words.
The speaker ordered us to be quiet and listen to them words.
The speaker ordered us to be quiet and listen to his words.
The speaker ordered to be quiet and listen to my words.

oo oe

12. Identify the best alternative for changing the given sentence from direct to reported speech.
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Ravi said, “I am very busy now.”

Ravi said that he was very busy now.
Ravi said that he was very busy then.
Ravi said that he was very busy later.
Ravi said that he was very busy the next day.

oo o

Identify the best alternative for changing the given sentence from direct to reported speech.

He says, “I am glad to be here this evening.”

a. He said that he was glad to be there that evening.
b. He questioned that he was glad to be there that evening.
c. He said that he was glad to be here that evening.
d. He said that he was glad to be there this evening.

Identify the best alternative for changing the given sentence from direct to reported speech.

“Where is the post office?” asked the stranger.

The stranger inquired that where is the post office.
The stranger inquired that where was the post office.
The stranger inquired that where the post office is.
The stranger inquired where is the post office.

oo o

Identify the best alternative for changing the given sentence from direct to reported speech.

Tania said to her friend, “Can you lend me an umbrella?”

a. Tania asked her friend if she could she lend her an umbrella.
b. Tania asked her friend whether she could lend her an umbrella.
c. Tania asked her friend that she lend her an umbrella.
d. Tania asked her friend if she could lend her a umbrella.

Identify which of the following is not a synonym of the given word.

PROCRASTINATE

a. Protract

b. Prolong

c. Expedite

d. Dawdle

Identify which of the following is not a synonym of the given word.
EXPUNGE

a. Exterminate

b. Insert

c. Extinguish



18.

19.

20.

21.

22.

23.
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d. Obliterate

Identify which of the following is not a synonym of the given word.
WHEEDLE

Cajole
Persuade
Coax
Dissuade

oo o

Identify which of the following is not an antonym of the given word.
SEGREGATE

connect
Disassociate
Associate
Couple

oo o

Identify which of the following is not a synonym of the given word.
PECUNIARY

Budgetary
Monetary
Fiscal
Conciliatory

oo o

Identify the best alternative for changing the voice of the given sentence.
The farmers will plough the fields before the monsoons.

The fields will be ploughed.

The fields will be ploughed by the farmers after the monsoons.
The fields will be ploughed by the farmers before the monsoons.
The fields shall be ploughed by the farmers before the monsoons.

oo oe

Identify the best alternative for changing the voice of the given sentence.
The delivery boy rang the bell.

The bell was rang by the delivery boy.
The bell was rung by the delivery boy.
The bell is ringing by the delivery boy.
The bell was ringing by the delivery boy.

oo o

Identify the best alternative for changing the voice of the given sentence.
We have warned you.

a. You have been warned.
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b. We have you warned.
c. Warned you have been.
d. Have you been warned.

24. Identify the best alternative for changing the voice of the given sentence.
Has anybody answered your question?

Your question has been answered?
Anybody has answered your question?
Has your question been answered?
d. Have you answered your question?

© T

25. Identify the best alternative for changing the voice of the given sentence.
Marie was writing a letter to her father.

A letter was written to her father by Marie.

A letter has been written to her father by Marie.
A letter was being written to her father by Marie.
A letter was written by Marie to her father.

oo o

Directions: For Q26 to Q30, read the passage below and answer the questions that follow:

Umberto Eco, an Italian writer, was right when he said the language of Europe is translation.
Netflix and other deep-pocketed global firms speak it well. Just as the EU employs a small
army of translators and interpreters to turn intricate laws or impassioned speeches of Romanian
MEPs into the EU's 24 official languages, so do the likes of Netflix. It now offers dubbing in
34 languages and subtitling in a few more.

The economics of European productions are more appealing, too. American audiences are
more willing than before to give dubbed or subtitled viewing a chance. This means shows such
as "Lupin”, a French crime caper on Netflix, can become global hits. In 2015, about 75% of
Netflix's original content was American; now the figure is half, according to Ampere, a media-
analysis company. Netflix has about 100 productions under way in Europe, which is more than
big public broadcasters in France or Germany.

Not everything works across borders. Comedy sometimes struggles. Whodunits and
bloodthirsty maelstroms between arch Romans and uppity tribesmen have a more universal
appeal. Some do it better than others. Barbarians aside, German television is not always built
for export, says one executive, being polite. A bigger problem is that national broadcasters still
dominate. Streaming services, such as Netflix or Disney+, account for about a third of all
viewing hours, even in markets where they are well-established. Europe is an ageing continent.
The generation of teens staring at phones is outnumbered by their elders who prefer to gawp at
the box.

In Brussels and national capitals, the prospect of Netflix as a cultural hegemon is seen as a
7
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threat. "Cultural sovereignty" is the watchword of European executives worried that the
Americans will eat their lunch. To be fair, Netflix content sometimes seems stuck in an
uncanny valley somewhere in the mid-Atlantic, with local quirks stripped out. Netflix originals
tend to have fewer specific cultural references than shows produced by domestic rivals,
according to Enders, a market analyst. The company used to have an imperial model of
commissioning, with executives in Los Angeles cooking up ideas French people might like.
Now Netflix has offices across Europe. But ultimately the big decisions rest with American
executives. This makes European politicians nervous.

They should not be. An irony of European integration is that it is often American companies
that facilitate it. Google Translate makes European newspapers comprehensible, even if a little
clunky, for the continent's non-polyglots. American social-media companies make it easier for
Europeans to talk politics across borders. (That they do not always like to hear what they say
about each other is another matter.) Now Netflix and friends pump the same content into
homes across a continent, making culture a cross-border endeavour, too. If Europeans are to
share a currency, bail each other out in times of financial need and share vaccines in a
pandemic, then they need to have something in common—even if it is just bingeing on the
same series. Watching fictitious northern and southern Europeans tear each other apart 2,000
years ago beats doing so in reality.

26. Based on information provided in the passage, all of the following are true, EXCEPT:
a. European television productions have the potential to become global hits.
b. only half of Netflix's original programming in the EU is now produced in America.
c. international broadcasters dominate in Germany in terms of total television viewing
hours.
d. Netflix has been able to transform itself into a truly European entity.

27. The author sees the rise of Netflix in Europe as:
a. aunifying force.
b. alooming cultural threat.
c. filling an entertainment gap.
d. aneconomic threat.

28. Which one of the following research findings would weaken the author's conclusion in the

final paragraph?

a. Research shows that Netflix has been gradually losing market share to other streaming
television service providers.

b. Research shows there is a wide variance in the popularity and viewing of Netflix shows
across different EU countries.

c. Research shows that older women across the EU enjoy watching romantic comedies on
Netflix, whereas younger women prefer historical fiction dramas.

d. Research shows that Netflix hits produced in France are very popular with North
American audiences.
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29. Based only on information provided in the passage, which one of the following
hypothetical Netflix shows would be the most successful with audiences across the EU?
a. A trans-Atlantic romantic drama set in Europe and America.
b. An original German TV science fiction production.
c. A murder mystery drama set in North Africa and France.
d. An Italian comedy show hosted by an international star.

30. The term “non-polyglots” mentioned in the passage refers to
a. People who don’t view Netflix.
b. People who don’t know multiple languages.
c. People who know multiple languages.
d. People who don’t have an OTT subscription.



SECTION B

ANALYTICAL AND LOGICAL REASONING

31. If in a certain code PARTNER is RDWAYRI, then LAWYER would be__
MDCGQF

NDBFPE

ODBEQG

PFDHRG

oo o

32. If in a certain code VISIT is YNATJ then OPINION would be
a. SVRZZIM
b. PSOWWFJ]
c. RUQYYHL
d. QTOUUEI

33. If in a certain code SPEAK is ULKSU then LISTEN would be_
MCZOMW

NEYLOB

NLVWHR

YVFGRA

oo oe

34. If in a certain code TAIL is PJSK then CABLE would be
ZKMKV

YJLKU

WIIKT

ANMKL

oo o

35. Complete the following series A5P, C10N, G21J, M40D,
a. Ue9v
b. U89T
c. S48Q
d. J58L

36. Complete the following series H5, J9, M18, Q34,
a. S45

b. U52

c. V59

d. Z65

37. Complete the following series L12, O15, R18,
a. U2l

b. V22

c. W23

d. Z26

10
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39.

40.

41.
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A premier law school is trying to make a weekly time table for its incoming LL.M
batch. The following subjects have to be accommodated — Research Methodology
(RM), Comparative Public Law (CPL), Law and Social Transformation (LST),
Advanced Criminal Law (ACL), and Advanced Corporate Law (ACoL). The time table
has to be accommodated on the basis of following rules:
I.  All classes must be held on all days

I[l.  LST must immediately precede ACL on any day

I1l.  CPL cannot be first or the last subject on any day

IV.  ACoL cannot immediately follow RM

V. RM cannot immediately precede LST

Which of the following schedule is feasible?

LST, ACL, CPL, ACoL, RM
RM,LST, ACL, CPL, ACoL
CPL, LST, ACL, Acol, RM

LST, ACL, CPL, RM, ACoL

oo o

During a school festival, the Principal has to determine the sequence of events
presented by students of various classes for the inaugural function. The events are —
Dance, Magic Show, Singing, Skit, Drama. The schedule for events has to be drawn up
on the basis of the following rules:

l. All events must be performed during the inaugural function

. Dance cannot be the first event

II. Magic Show should necessarily follow Skit

IV.  Drama cannot immediately precede Dance

V. Skit cannot be the last event

VI.  Drama and singing cannot be consecutive events

Which of the following schedule is feasible?

Singing, Skit, Magic Show, Drama, Dance
Magic Show, Skit, Dance, Drama, Singing
Skit, Magic Show, Singing, Dance, Drama
Drama, Singing, Skit, Magic Show, Skit

oo o

Some cars are trucks, some trucks are toys, all toys are machines, some machines are
electric. Which of the following conclusions necessarily follow?

a. Some machines are toys

b. Some cars are electric

c. Some trucks are electric

d. Some cars are machines

All bread is butter, some butter is jam, all jam is eggs, some eggs is cheese. Which of
the following conclusions necessarily follows?
a. Some bread is eggs

11
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b. Some cheese is bread
c. Some jam is cheese
d. Some eggs is butter

42. All students issue books. Some who issue books study law. All who study law are

enrolled at NLUs. M issues books. Examine the following conclusions?
I.  Mis definitely a student
I[l. M is definitely studying law
I1l. M may be a student
IV. If Misenrolled in NLU he may be a student
V. If Misenrolled in NLU he definitely is a student

Which of the following conclusions necessarily follow? Choose the most appropriate
answer

a. Onlyl, Iland Il
b. Onlylland IV
c. Onlyl, IVandV
d. Only Il and IV

Directions: In the following Questions (43 - 46), a situation is given followed by two
arguments. Select whether an argument is strong or weak. An argument is strong when it
is directly relevant, while an argument is weak when the argument is merely linked or off

topic.

43.

44,

Situation: Pollution in India is rising

Argument I: Many driver licenses have been issued in the past few years.

Argument II: The number of factories in India has increased dramatically in the last
five years.

Choose the most appropriate response:
a. Only argument I is strong
b. Only argument Il is strong
c. Both arguments are strong
d. Both arguments are weak

Situation: Demand for vegetables has substantially increased.

Argument I: Colleges have started serving more vegetables dishes as part of their mess
meals.

Argument Il: National Heart Foundation issued an advisory recommending higher
consumption of vegetables for good health.

Choose the most appropriate response:
a. Only argument | is strong

12
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C.
d.

M.A.

Only argument 11 is strong
Both arguments are strong
Both arguments are weak

45. Situation: Technology is increasingly being utilised in courts.
Argument I: Administrative activities are more efficiently done by using technology
Argument I1: Use of technology reduced number of errors made.

Choose the most appropriate response:

a.

b.
C.
d

Only argument 1 is strong
Only argument Il is strong
Both arguments are strong
Both arguments are weak

46. Situation: Gender based violence is on the rise.
Argument I: Programmes on OTT platforms increasingly depict gender-based violence
Argument I1: There is increased reporting on gender-based violence.

Choose the most appropriate response:

a.
b.
C.
d.

Only argument 1 is strong
Only argument 11 is strong
Both arguments are strong
Both arguments are weak

Directions: For Questions 47 and 48, read the following paragraph and respond to the
guestions.

47.

The hum of humanity around was increasing. His awareness of his surrounding was
gradually lessening in a sort of inverse proportion. He was not aware of it, but the world
was beginning to press around. The pen of the wandering journalist had done the trick.
Its repercussions were far and wide. The railways were the first to feel the pressure.
They had to run special trains for the crows that were going to Malgudi. People
travelled on footboards and on the roofs of coaches. The Malgudi station was choked
with passengers. Outside, the station buses stood, the conductors crying, ‘Special for
Malgudi leaving. Hurry up, Hurry up.” People rushed up from the station into the buses
and almost sat on top of one another.

Which of the following conclusions can be most appropriately inferred from the
passage?

13
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I.  spread of news through a journalist’s writing had caused a massive influx of
people traveling to Malgudi
Il.  The city of Malgudi is a significant attraction which has led to a surge in visitors
1. The railways did not have enough trains to deal with the sudden surges in
passenger numbers.
IV.  The transportation system was able to comfortably transport passengers to
Malgudi

Choose the most appropriate answer:

@ I'& I (b) H & 1V (c) Only I; (d) Only Il

48. Which of the following assumption can be most appropriately inferred from the
passage?
I.  author was not too bothered about the changes in his surrounding
Il.  need to run special trains indicated inefficiencies with railways in anticipating
changes in passenger traffic
I1l.  adequate economic opportunities were always present in Malgudi but could not
be tapped for lack of good transportation system
IV. influx of visitors is temporary and linked to a single occurrence, rather than a
long-term trend of increased interest in Malgudi

Choose the most appropriate answer:

(@) Only IV: (b) Only I; (c) 1 & III; (d) 111 & IV

Directions: For Questions 49 and 50, read the following paragraph and respond to the
questions.

Intellectual humility was rarely discussed between 1800 and the early 2000s, but in the
early 2010s, the number of mentions the trait received began to grow exponentially.
Enthusiasm for intellectual humility, then, looks to be bound up with a specific set of
epistemological anxieties related to information management in the age of the internet
and social media. (Facebook was founded in 2004.) And, indeed, intellectual humility is
often said to guard against precisely those pathologies that social media can incubate.
‘When citizens are intellectually humble,” write the philosophers Michael Hannon and
Ian James Kidd, ‘they are less polarised, more tolerant and respectful of others, and
display greater empathy for political opponents.” The intellectually humble, writes the
psychologist Mark Leary, ‘think more deeply about information that contradicts their
views’, and ‘scrutinise the validity of the information they encounter’.

49. Which of the following conclusions can be most appropriately inferred from the
passage?
I.  Intellectual humility is common among citizens of the present day
Il.  Interest in intellectual humility as a key trait among citizens has grown
exponentially since the early 2000s

14
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1. Willingness to acknowledge limits of one’s knowledge has been identified as a
mark of a wise person

IV.  Willingness to acknowledge limits of one’s knowledge is increasingly relevant
in age of internet and social media

Choose the most appropriate answer:

@) 1&I1; (b) 1 &I (c) II; (d) IV

50. Which of the following assumption can be most appropriately inferred from the

passage?
I.  There is a need to constantly guard against polarisation and misinformation that
social media can be used to propagate
Il.  Willingness to acknowledge limits of one’s knowledge is a remedy for cognitive
biases and flawed reasoning
I1l.  Rise in social media has led to increased interest in intellectual humility
IV.  Willingness to acknowledge limits of one’s knowledge is beneficial in all
contexts

Choose the most appropriate answer:

@ 11 & 1I; (b) I&I1; (c) 111 & IV; (d) Only |

Directions: For Questions 51 and 52, read the following paragraph and respond to the
questions.

51.

Artists around the world have been deeply disturbed by the anthropomorphisation of
machines designed to steal and devalue their work. The researchers explored the nature
of art, clarifying that image generators are not artists. It seems obvious, but if you listen
to the Al hype, it clearly needs to be spelled out. As they explain, while art is grounded
in the very activities of living, it is the human recognition of cause and effect that
transforms activities once performed under organic pressures into activities done for the
sake of eliciting some response from the viewer. Art is not only about our experience; it
is about our sensitivity to the experience of our audience. It is fundamentally humans
reaching out to each other. By contrast, image generators have no understanding of the
perspective of the audience or the experience that the output is intended to
communicate to this audience. At best the output of image generators is aesthetic, in
that it can be appreciated or enjoyed, but it is not artistic or art itself.

Which of the following conclusions can be most appropriately inferred from the
passage?
I.  Artisaform of communication among humans
Il.  Artis fundamentally a human endeavour, grounded in human life and activities
of living
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1. Artis an experience, solely aimed at creating enjoyable or aesthetically pleasing
works

IV. Al Image generators have the ability to perceive the audience and customise its
output for them

Choose the most appropriate answer:

@ 1&I11; (b) 1 &II; (c) Only I & I1I; (d) Only HI&IV

52. Which of the following assumption can be most appropriately inferred from the
passage?
I. Al advancements particularly in image generation is reaching a level of
sophistication that is causing concern among artists
Il. By their very nature, Al image generators cannot possess understanding of
human activities and experience required to create art
I1l.  Artimitation or replication cannot be considered or understood as art creation
IV.  Artcan be defined solely in terms of the technical skill involved in producing it

Choose the most appropriate answer:

(a) Only I & 11I; (b) Only 1&I1; (c) Only 111 & IV; (d) Only | & IV

Directions: In the following Questions (53 - 57), a Rule is given followed by a fact
situation. Assume the Rule to be correct, do not assume anything beyond it, and apply it
to the given facts and select the most appropriate option.

53. Principle: For a crime to occur, there must be both a wrongful act (actus reus) and a
guilty mind or intention (mens rea).
Fact: While driving, Sunil was cut off by another vehicle, which resulted in small dent
on his car. In a fit of rage Sunil overtook the other vehicle and blocked its path with his
car. He then got out of the car with a cricket bat and repeatedly asked the driver of the
other vehicle to come out of the vehicle, repeatedly, screaming, ‘Come out now, I will
kill you.’ Is Sunil guilty of a crime?

a. Yes, Sunil has exhibited both actus reus (getting out of the car with a bat) and
guilty mind (screaming the threat to kill)

b. No, getting out with a bat might indicate an intention to harm but merely
screaming does not indicate an intention to kill

c. Yes, Sunil clearly had a guilty mind which is indicated by the threat to kill, and
a bat can be used to kill

d. There is insufficient information to decide

54. Principle: In the event of a dispute between parties, a party can file a suit against the
other party at the place where the contract was entered, or where the dispute arose, or
where the respondent resides.
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Fact: Nikhil who is resident of Nagpur agreed to purchase from Pankaj who is resident
of Mumbai 200 printer cartridges. Nikhil was in Pune when he placed the order by
phone. Pankaj responded in three days’ time. The cartridges were to be delivered at a
given address in Bhopal within two months. Pankaj delivered the cartridges but Nikhil
failed to make the payment within the agreed time. Where can Pankaj sue Nikhil?

(1) Pune, (I1) Nagpur, (111) Bhopal, (IV) Mumbai
Select the correct option:

@ 1/ (o) & () NIV (d) 1 & IV

Principle: A master is liable for the acts done by his servants in the course of
employment.

Facts: Praveen owns a premium moving company that specializes in transporting
valuable antiques. One day, Ajay, one of his employees, is tasked with delivering a set
of fragile and expensive sculptures to a client, Ankita. Praveen advises Ajay to drive
carefully and avoid bumpy roads. When Ajay arrives at Ankita’s house, she instructs
him to take a very narrow, uneven driveway to unload the sculptures right at the
entrance of her house. Ajay expresses his discomfort given the unevenness of the
driveway, but Ankita repeatedly insists. He follows Ankita’s instructions and drives
onto the uneven driveway. Due to the bumpy ride, one of the sculptures gets dislodged
and is damaged during unloading. Ankita seeks to sue both Ajay and Praveen for
negligence, claiming that they should be responsible for the damage to her antique.
Select the most appropriate answer:

a. Ankita will succeed because the antiques were being moved by Ajay who is
employee of Praveen

b. Ankita will not succeed because she had instructed Ajay to go over uneven
driveway

c. Ankita will succeed because Ajay was anyhow duty bound to secure the
antiques properly and drive carefully

d. Praveen is not liable because he had asked Ajay to drive carefully. Ajay is not
liable because he had expressed his discomfort and only proceeded on Ankita’s
insistence.

Principle: Any person who knowingly and voluntarily risks danger cannot recover for
any resulting injury.
Facts: A, B, C, D, E and F are sitting on G’s tractor. While crossing an unmanned
railway crossing, it was hit by a train which led to extensive damage to the tractor and
people sitting on it. All of them want to sue the railway for the damage caused. Will
they succeed?

a. Yes, because it is the duty of the Railway to ensure every crossing is secured

electronically or otherwise
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b. Yes, while using the tractor as a means of transportation none of them
undertook a voluntary risk of being hit by a train

c. No, tractor is not meant to be used for ferrying passengers, and anyone doing so
voluntarily undertakes the risk of any injury

d. No, they were crossing an unmanned railway crossing which presents a known
risk due to possibility of trains passing without warning

57. Principle: Any person who for his own purposes brings on his lands and collects and

keeps there anything that is likely to cause mischief if it escapes must keep it in at his
peril and if he does not do so, is prima facie responsible for all damages, irrespective of
his fault, which is the natural consequences of its escape in respect of non-natural use of
land.
Fact: Nisha owns a large water tank on her property, which she uses for irrigation. The
tank is well-maintained and periodically serviced. One night, due to an unusual surge in
water pressure from the municipal supply, the tank overflows. The excess water
damages Raj's garden and seeps into his house, causing structural damage. Raj sues
Nisha for damages. Will he succeed?

o

Yes, Nisha is liable for damages caused by tank overflow, regardless of fault.

b. Yes, Nisha is liable as she stored large quantity of water on her property and
should have foreseen possibility of variation in pressure of municipal water
supply

No, the overflow was a result of surge in municipal water pressure

d. No, the overflow was a result of unforeseeable circumstance

o

58. If PEEL = 76, GREAT=102, FLIGHT=124, then REMAINS=?
a. 132
b. 158
c. 174
d. 228

59. If BELT=49, FLIGHT=59, PEEL, 123, then BANANA=?
a. 153

b. 53

c. 123

d. 73

60. If DUST =46, PICK=93, DANCE=72, then ROUTER="?
a. 124

b. 148

c. 79

d. 57
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SECTION C

INTELLECTUAL PROPERTY RIGHTS (NON-LEGAL)

Assertion: A defensive strategy in Intellectual Property management focuses on
ensuring a company’s freedom to operate while minimizing the risk of competitors
obtaining exclusive rights to crucial innovations.

Reason: Defensive strategies involve proactive measures to acquire exclusive rights to
innovations and limit competition in the market.

Choose the correct answer:

a. Both the assertion and reason are true, and the reason is the correct explanation of
the assertion.

b. Both the assertion and reason are true, but the reason is not the correct explanation

of the assertion.

The assertion is true, but the reason is false.

d. The assertion is false, but the reason is true.

o

Taylor has invented a new device that enhances the efficiency of solar panels by 30%
when compared to prior art. He has properly documented his invention in order to
ensure that a person with ordinary skill in the relevant field can replicate the device
without undue experimentation. Taylor’s invention has not been disclosed previously.

Which of the following options accurately reflects the criteria that would make Taylor’s
invention eligible for a patent based on the provided scenario?

a. Taylor’s invention qualifies for a patent because it demonstrates practical utility and
involves substantial experimentation.

b. Taylor’s invention meets the patent criteria as it is fully described and can be
reproduced without undue experimentation by a person skilled in the relevant art.

c. Taylor’s invention is not eligible for a patent because it introduces complex
technical processes and exhibits actual utility rather than practical utility.

d. Taylor’s invention does not fulfill patent criteria since it lacks complexity and may
be obvious to individuals with ordinary skill in the relevant art.

Which of the following inventions would be considered as patentable in India?
a. An invention whose secondary use is contrary to public order and morality
b. A new use of a known substance

c. Plant, animal or seeds

d. Algorithms and business methods
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Statement 1: A priority application for patents can be filed by a resident or national of
a contracting party either in their own country’s national patent office or the World
Intellectual Property Organization’s (WIPO) International Bureau in Geneva.

Statement 2: The priority date of a patent application is the date on which it is filled in
the applicant’s home country, granting advantages such as the ability to file applications
for patent grants in other countries at a later date and to have applications examined
based on the priority date.

Which of the following is correct from the below-mentioned options?

a. Both statements are true, and Statement 2 is the correct explanation of Statement 1.

b. Both statements are true, but Statement 2 is not the correct explanation of Statement
1.

c. Statement 1 is true but Statement 2 is false.

d. Statement 1 is false but Statement 2 is true.

Which of the following statements accurately describes the process of securing

protection for sound marks in India based on the information which has been provided?

a. Sound marks can only be registered in India if they are submitted in the form of
musical stave and not in any other form.

b. Sound marks in India must be submitted as MP3 file, along with its graphical
representation such as musical stave.

c. Sound marks were historically registered in India using the MP3 file format but now
we see there is a shift, as the recent trend requires that it is accompanied by musical
stave.

d. The Yahoo! Yodel was the first sound mark to be registered in India, thus, setting
forth a precedent for future sound mark registration.

Consider the scenario mentioned below:

The CA logo is a collective mark which is used by members of the CA institute to
distinguish their quality of services from those who do not belong to the group. Only
individuals who are registered members of the institute are authorized to use the logo
for professional purposes.

Which of the following statements captures the nature and usage of the collective marks
such as the CA logo?

a. Collective marks like the CA logo are open for use by any individual or
organization that wishes to distinguish their products and services from that of
competitors.

b. The CA logo is exclusively used by the CA Institute to signify its brand and identity
and is not available for use by the members.

c. Collective marks like the CA logo are reserved for exclusive use by members of a
particular group or organization to denote the quality of the service offered.
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d. The CA logo is a trademark that can be used by any individual or organization after
obtaining a license from the CA Institute irrespective of membership to the
organization.

A significant change was introduced in the context of well-known trademark in India

pertains to the following situation

a. Applicants were permitted to file trademark applications electronically.

b. The duration of the well-known mark registration was extended from 10 years to 20
years.

c. Applicants could now request the registrar of trademarks to determine the status of
their trademark and declare it a well-known trademark. Such list is now made
available by the trademark office.

d. The process of applying for a well-known mark was now made possible only by
way of showing that the mark was well-known in all other jurisdictions.

Given below is a list of products, identify those which have received Geographical
Indication status in India?

(i) Amroha Dholak

(i) Barabanki Handloom Products
(iii) Tirur Betel Leaf

(iv) Dharwad Peda

(v) Pashmina of Kashmir

Choose the correct answer:

. (i), (iv) and (v)

. (i), (i), (iii) and (iv)
. (v), (i), (i) and (ii)
All of the Above

o 0 T o

Why is the registration process for the Geographical Indications (Gls) different from

other types of intellectual property?

a. Gls are owned and managed by individual persons and organizations.

b. Gls are considered as collective public property and therefore the registration can
only be made by a government agency.

c. Gls are solely controlled by organizations and hence, individual members of the
organization cannot use the registered Gls.

d. Gls are collective private property, belonging to an entire region, state or country,
rather than a single person or organization.

A company has successfully obtained registration for a geographical indication (Gl) for
its unique artisanal cheese produced in the specific geographic region of Mumbai. After
10 years, the company has decided not to renew the registration for GI. However,
another company began producing a similar cheese using the same traditional methods
and geographical location.
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Which of the following is true regarding the situation of the Gl registration?

a.

The GI registration becomes invalid once the company fails to renew the same,
thus, allowing other companies to freely produce similar products using the same
geographical indication.

The GI registration remains valid for an indefinite period, whether or not the
company renews its registration, thus, the other company cannot produce similar
products using the same GI.

The GI registration becomes invalid once it lapses, however, other companies are
free to produce similar products using the GlI, if they obtain their own separate
registration.

The GI registration remains valid for 10 years but the Company can reapply for its
registration at any time in the future if they decide to renew it, thereby maintaining
the exclusive rights to the GI.

71. Match the following enactments with the corresponding year:

A)
B)
C)

D)

The Geographical Indications of 1) 1970
Goods (Registration and Protection Act)

The Trademark Act 2) 1957
The Copyright Act 3) 1999
The Patent Act 4) 1999

Choose the correct option:

72.

oo oe

A-4,B-1,C-2,D-3
A-3,B-4,C-2,D-1
A-4,B-3,D-2,C-1
A-3,B-2,C-4,D-1

Consider the scenario mentioned below:

Sita who is an aspiring software programmer has just completed her software code in
object and source code. She is excited about her accomplishment but wonders about the
protection of her creative work. She decided to do some research and learn more about
copyright, patent and trademark.

Which of the following statements is best suitable for Sita’s situation?

a.

Sita’s software will be protected by copyright as soon as she creates it, thus, she has
automatic protection of her rights and no copyright registration is required for
obtaining remedies under the Copyright law in India.

Sita must file for a patent to protect her software, as patents offer broader protection
for creative works as compared to copyright since object/source code can be
protected as a computer programme per se in India.
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Sita’s software will be automatically protected by copyright upon its creation but
she should also consider applying for a trademark in India on object and source
codes to enhance her rights and ensure that she has international recognition.

Sita should register her software with the Copyright Office of India to ensure its
protection, as copyright laws vary from country to country and without registration
her rights might get infringed and she may not have any remedy under copyright
law in India.

73. Ram and Shyam, graduates of IIT Madras and Bombay, respectively develop separate
code for food delivery apps around the same time. Both apps are unique in their
expressions of idea. However, neither Ram nor Shaym holds copyright over the idea of
a food delivery app itself.

What does this scenario imply regarding the copyright ownership?

a.

Ram and Shyam each hold copyright over their respective code for the food
delivery apps, as they represent unique expressions of their ideas. However, neither
Ram nor Shyam holds the copyright over the idea of a food delivery app.

Ram holds the copyright over his code, while Shyam holds the copyright over his
code. Additionally, they both collectively hold the copyright over the idea of a food
delivery app.

Ram and Shyam share copyright as joint authors over both codes and ideas of a
food delivery app since they both independently developed similar applications.

Neither Ram nor Shyam holds copyright over their respective codes or the idea of
the food delivery app, as the software is a subject matter which is not granted
copyright protection under law.

74. Which of the following statements accurately describes the approach that has been
adopted by India for applying originality in the context of copyright?

a.

India follows the Sweat of the Brow doctrine which lays emphasis on the author’s
rights through the act of creating a work without requiring originality or creativity.
India strictly adheres to the Modicum of Creativity test which requires a minimum
level of creativity in the work to be eligible for copyright protection.

India takes a balanced approach and strikes a balance between public interest and
the author’s rights without adhering to a specific ground rule for determining the
level of originality as long as there is minimal creativity.

India follows a stringent standard for originality, thus, requiring that the work must
showcase the significant level of creativity as well as originality to gain protection.

75. What rights do performers, such as actors and singers, possess according to performers’
rights in India?

a.

b.

Performers have the right to record their performances, translate them into different
languages, and sell or rent out the recordings.

Performers have the right to record their performances, sell or rent out such
recordings, and broadcast or communicate the performance to the public, unless it
has already been broadcasted with their permission.
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Performers have the right to perform publicly, create derivative works based on
their performances and distribute the copies of their performances.

Performers have the right to adapt their performances into different formats,
collaborate with other performers and license their performances for commercial
use.

76. Anu, an author, transferred her economic rights in the novel to ABC publishing house.
Despite the transfer, the Anu still maintains certain rights that persist even after the
transfer.

Which moral right allows the author to prevent any modification, distortion or
mutilation of work that could adversely affect their reputation?

a.

Paternity Right, since no person can modify, distort or mutilate without permission
of the author although it causes no harm to their reputation.

Divulgation Right, since the author can stop the publication of the work that
modifies, distorts or mutilates.

Integrity Right, since no person can modify, distort or mutilate in a way that causes
harm to the author’s honor and reputation.

Attribution Right, since anyone can modify, distort or mutilate after attributing it to
the author.

77. Which of the following statements about the copyright registration of mobile
applications (apps) is correct according to the Copyright Office of India?

a.

b.

Mobile applications can only be registered if screenshots of the app are provided
along with the source code and object code.

Mobile applications are registered as standalone works without considering the
source code and object code.

Mobile applications can be registered as computer software works, if the source
code and object code are provided and the registration covers the screen display
which has been generated by the App, with the condition that the owners of the
computer programme and the screen display are the same.

Mobile applications cannot be registered for copyright protection due to the
dynamic nature of app development.

78. Which of the following is the best description of derivative work based on the
information that has been provided under copyright?

a.

b.

Derivative works include only translations and adaptations of existing literary
works, such as English to Hindi translations of Harry Potter Books.

Derivative works encompass motion pictures, sound recordings, and cinematograph
films, which are based on a pre-existing literary, dramatic, artistic or musical work
and maintain the same degree of copyright protection as original works.

Derivative works consist solely of recording of songs, which combine original
musical and literary works and are considered derivative works by the order of the
court.
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d. Derivative work extends copyright protection to original literary, dramatic, artistic
or musical works but does not include motion pictures, sound recordings, or
adaptations of existing works.

Match the following:

Category Type of Work

Books, Novels, computer programmes and Pamphlets A) Literary Work
Paintings, photographs, business logos, B) Artistic Work

Layouts, architectural drawings

Recorded Songs/Audio C) Sound Recording Works
Sheet Music D) Musical Work

Choose the correct option:

oo o

80.

81.

1-A, 2-D, 3-C, 4-B
1-D, 2-A, 3-C, 4-B
1-B, 2-D, 2-C, 4-A
1-A, 2-B, 3-C, 4-D

Which of the following statements regarding Open Source Software (OSS) and

copyright protection is accurate based on the information that has been given below?

a. Open Source Software (OSS) does not fall under copyright protection because its
source code is open for anyone to modify and only contractual licensing will govern
OSS terms and conditions.

b. The source code of Open Source Software (OSS) is not subject to copyright
protection but the object code is protected under copyright.

c. Open Source Software (OSS) allows anyone to see, inspect, or modify its source
code but all the rights available to owners of copyright are applicable under an OSS
licensing agreement.

d. Open Source Software (OSS) provides access to its source code and the rights
available to the owners of copyright are made available under an OSS licensing
agreement, although the terms and conditions may vary with each license.

Rahul, a renowned author, published a series of novels that gained widespread
popularity and critical acclaim. The copyright protection of the novel is set to expire
soon. His representatives/ estate’s are concerned about the future of the works once
they enter the public domain. They wish to maintain some control over the use and
distribution of the novels even after the expiration of the copyright period.

Which of the following summarizes the correct proposition?
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The author’s estate should seek trademark protection for the titles of the novel to
retain control on the content after the expiration of the copyright.

The author’s estate should explore the option of extending the term of protection
through legal means such as contract law to maintain control over the ownership,
use and distribution of novels.

The author’s estate should consider remedies of passing-off since post expiry of
copyright and printing and publishing by others can mislead the public as to the
original publisher of the book by a different publisher.

The author’s estate should understand that once the copyright protection expires, the
work will enter the public domain, thus making it freely available for anyone to use
and no remedy is available.

Which of the following elements can be considered as part of Industrial Design?

a.
b.
C.

Chemical composition of materials used in production.

Textures and materials that are used for manufacturing.

Shapes, patterns, ornaments and composition of lines and colors which have an
aesthetic appeal.

Marketing strategies and advertising campaigns which have an aesthetic appeal.

Which of the following would NOT be eligible for registration as an industrial design?

a

b.
C.
d.

The design of a bed-sheet features intricate patterns and motifs.

The design of a 3D printer, including its mode or principle of construction.

The design of wallpaper with vibrant colours and unique patterns.

The design of electrical appliances manufactured through assembly line processes
with an aesthetic appeal.

Which of the following is true about the remedies that are available for design piracy as
has been mentioned in the provided information?

a.

Design piracy involves the unauthorized use of a registered design and may result in
penalties such as imprisonment and fines.

The remedies for design piracy include injunction, recovery of contract debt upto
Rs. 25,000/- and damages for the unauthorized use of a registered design.

Design piracy is a civil offence that does not entail any other legal consequences for
the infringing party.

Remedies for design piracy primarily involve the confiscation of the infringing
products and suspension of the infringer’s business operations.

In the context of registering fashion designs in India, which of the following statements
reflects the distinction/overlap between copyright protection and industrial design
protection?

a.

b.

Fashion designs can only be registered under the Designs Act and are not eligible
for copyright protection, including in its underlying artistic works.

Copyright protection for fashion designs lasts for the lifetime of the author plus 60
years after the author’s death while Industrial Design protection ceases to exist after
the creation of more than 50 copies by an industrial process in case of an

unregistered design.
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Fashion designs intended for reproduction more than 50 times should be registered
under the Copyright Act to ensure lifelong protection for the author plus 50 years
since industrial designs protection term is lower.

Copyright protection for fashion designs is more suitable for limited reproduction
scenarios while industrial design protection is advisable for designs intended for
mass production exceeding 50 copies.

86. In the context of fair and unfair competition practices under commercial law, which of
the following scenarios best describes unfair competition?

a.

Company A introduces a new product with superior quality and increases its prices
compared to that of its competitors.

Company B spreads false rumours about the safety of Company A’s products to
dissuade customers from purchasing their products.

Company C advertises its products using catchy slogans and creative marketing
techniques to attract more customers than its competitors.

Company D reduces its prices temporarily in a predatory way to match those of its
competitors during a seasonal sale event.

87. A top dairy brand can be held liable for generic disparagement in its advertisements in
the context of frozen desserts. Which of the following statements best summarized the
reason for considering generic disparagement in India?

a.

The advertisements claim that frozen desserts were made of harmful ingredients
while the dairy brand’s ice cream was made of real milk, hence leading to unfair
competition.

The advertisements promote the health benefits of the dairy brand’s products
without making disparaging remarks about its competitor’s products.

The advertisements convey a false and negative message about frozen desserts as a
category, thus adversely affecting the businesses of companies producing frozen
desserts.

The advertisements highlight the superior quality and taste of the brand’s ice creams
compared to its competitors' frozen desserts thus, leading to consumer confusion.

88. What does the Hot News Doctrine primarily pertain to?

a.

Long-term value content published in newspapers or magazines that remain in
repeated news.

Live television broadcasts of events or information (e.g. cricket scores) with short-
lived relevance.

Copyright protection for literary works and artistic creations which relate to news
events.

Trademark infringement cases involving brand identity and logos that pertain to
media and entertainment channels.

89. Why is it essential for businesses to protect their confidential information?
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To prevent competitors from obtaining commercially valuable information and
maintaining its confidentiality through reasonable measures, particularly when a
patent application has not been otherwise filed to protect such information.

To encourage transparency and sharing of knowledge, promoting healthy
competition in the marketplace particularly since grant of a patent will prevent
sharing of disclosed information.

To ensure that all information, regardless of its value or confidential character,
remains undisclosed to any external parties, particularly when a patent application
has not been otherwise filed to protect such information.

To comply with legal regulations as all secrets are official secrets of the
Government governing the disclosure of sensitive information to the public domain.

90. What are the necessary factors to establish in order to seek remedies for breach of
confidentiality?

a.

Identification of information, its conveyance under confidence and its capability of
being classified as confidential.

Establishment of damages incurred, the nature of the information licensed and the
authorization for its use.

Conveyance of the information in the public domain under a licence, its
identification and the authorization for the use.

Nature of the information, its identification and the damages which have been
incurred due to authorised use.

91. When a former employee of a renowned fast-food chain AFK, discloses the secret
recipe of its famous herbs and spices to the competitors, in a situation where there was
no employment contract warranting non-disclosure, which civil action can be taken?

a.

No civil action is available as there is no contract after expiry of employment.
However, the former employee may face criminal charges for theft of property.

The former employee may be charged with copyright infringement for disclosing
proprietary recipes without authorization.

An action for breach of confidence is available and an injunction may be granted as
the disclosed information provides a competitive advantage to competitors even if
there is no contract.

The former employee may be sued under consumer protection laws for
compromising the quality of AFK’s products.

92. Which Indian legislation specifically protects the layout designs of semiconductor
integrated circuits?

a.
b
C.
d

93. A

The Semiconductor Manufacturing and Export Control Act, 1981

. The Semiconductor Integrated Circuits-Layout Designs Act, 2000

The Integrated Circuit Protection and Layout Designs Act, 1995

. The Electronic Components Protection Act, 2005

semiconductor layout design will not be protected under the Semiconductor

Integrated Circuits-Layout Designs Act, 2000 if it is:

a.

Original and commercially exploited in India or any country.
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b. Not original or commercially exploited in India or any other country prior to

registration.

Original but not inherently distinctive.

d. Inherently distinctive but not capable of being distinguishable from any other
registered layout design.

o

Shyam, a farmer conserves, preserves and sells a traditional variety of rice which is
native to his region without seeking any registration under the Plant Varieties and
Farmers’ Rights Act (PPVFRA).

Consider the statements given below and choose the one which aligns best with the
prevalent law.

a. The farmer is entitled to apply for registration of the traditional rice variety
developed by them and claim exclusive rights over its use and distribution.

b. The farmer may only use the traditional rice variety for personal consumption but
cannot engage in any activity of exchange or sell related to its produce if the variety
IS registered.

c. The farmer has the right to save, use, exchange or sell the produce grown from the
traditional rice variety, regardless of its registration status under the Act.

d. The farmer is required to seek permission from the government authorities before
conserving or preserving any traditional rice variety.

How long is the protection period provided for Trees and Vines for Plant Variety in
India?

a. 6 years and extendable upto 15 years.

b. 9 years and extendable upto 18 years.

c. 12 years and extendable upto 21 years.

d. 15 years and extendable upto 24 years.

Jane’s patent for a new type of solar panel has recently lapsed due to her failure to pay
the renewal fee within the specified period.

Which of the following actions can she take to restore her patent?

a. No restoration of a lapsed patent is possible

b. Apply through Form 15 for restoration to the Controller General of Patents within
eighteen months of the lapse and pay the unpaid renewal fee.

c. Apply through Form 12 for restoration to the Controller General of Patents within
twenty four months of the lapse and pay the unpaid renewal fee.

d. None of the above

Which elements are necessary for a successful action for passing-off involving an

unregistered trademark?

a. The passing-off action is successful only when the registered trademark
targets/misrepresents customers about the products or services of a competitor,
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causing harm to the goodwill of the competitor and is likely to confuse the
consumers.

The passing-off action is successful when an unregistered trademark
targets/misrepresents customers about the products or services of a competitor,
causing harm to the goodwill of the competitor and is likely to confuse the
consumers.

The passing-off action is successful only when unregistered trademark is a well-
known trade mark notified by the relevant authority, which targets/misrepresents
customers about the products or services of a competitor and causing harm to the
goodwill of the competitor and is likely to confuse the consumers.

The trademark must be unregistered, causing harm to the goodwill of the
competitor, misrepresents the source, but is not likely to confuse consumers as to its
true place of origin.

98. The concept of first sale doctrine means:

a.

The ability of IP owners to derive royalties on every subsequent sale after the first
sale has been made

Non-ability of IP owners to derive royalties on every subsequent sale after the first
sale has been made

Ability of IP owners to derive royalties after the first sale but cannot stop any
subsequent sale made by the buyer

None of the above

99. Intellectual Property rights are generally considered as:

a.
b.
C.
d.

Negative rights towards exclusion

Positive rights towards exclusion

Rights to manufacture the product or process protected by intellectual property
All of the Above

Intellectual Property Rights are historically classified as:
a.
b.
C.
d.

Industrial Property and Copyright

Intellectual Property and Copyright

Industrial Intellectual Property and Copyright
None of the above

*kkkk
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